
3/8" = 1'-0"Scale:

FRONT

2

3/8" = 1'-0"Scale:

TOP

1

3/8" = 1'-0"Scale:

RIGHT

3

3/8" = 1'-0"Scale:

FRONT ISO

4

ACCESSORY

ITEMS

Qty

Part Number

Description Length

Width

146

CHEESEBORO

SWIVEL

CHESEBOROUGH

SWIVEL

N/A N/A

M

DETAIL M

SCALE 1-1/2" = 1'-0"

A1

A2

A3

A4

A5

A6

A7

A8

B1

B2

B3

B4

B5

B6

B7

B8

B9

B10

B11

B12

B13

B14

B15

B16

B17

B18

B19

B20

B21

B22

B23

B24

B25

B26

C1

C2

C3

C4

C5

C6

C7

C8

C9

C10

C11

C12

C13

C14

C15

C16

C17

C18

C19

C20

C21

C22

C23

C24

C25

C26

C27

C28

NOTE:

- For size and hole placement on individual hanging

panels, see detail page 5

- For length and eyebolt placement on 1-1/2" schedule

40 pipes, see detail page 5

8mm clear Polygal printed

on both sides

For truss sizes and quantities,

see detail page 6

OTHER ITEM

TYPES

Qty

Part Number

Description Length

Width

124 S-HOOK 1.75IN S-hook 1 3/4" x 1/8" N/A N/A

124

3/8"-16 X 3"

EYEBOLT

3/8"-16 X 3" EYEBOLT 3" N/A

124

3/8"-16 WING

NUT

3/8"-16 WING NUT N/A N/A

124

3/8"-16 LOCK

NUT

3/8"-16 LOCK NUT N/A N/A

1-1/2" schedule 40 pipe

connects directly to truss

with swivel cheeseboros

15'-1 1/2"29'-9"

N

DETAIL N

SCALE 3" = 1'-0"

3/8"-16 wing nut and lock

nut for adjustability

3/8"-16 X 3" eyebolt

1.75" S-hooks

19'-8"

4
'
-
0
"

14'-0 3/4"

1-1/2" schedule 40 pipes are NOT regularly

spaced apart; for locations relative to truss,

see detail page 6

9
'
-
1
0
"

File ID:

Revision #:

OF

Drawn by:

F
u
l
l
 
S

c
a
l
e
:
 
3
6
"
x
2
4
"
 
 
 
5
0
%

:
 
1
1
x
1
7
 
 
 
N

o
t
 
t
o
 
S

c
a
l
e
:
 
8
.
5
x
1
1

Page:

Plotted:

O
r
a
n
g
e
 
C

o
u
n
t
y
 
C

o
n
v
e
n
t
i
o
n
 
C

e
n
t
e
r

O
r
l
a
n
d
o
,
 
F

L

O
c
t
 
4
 
-
 
6
,
 
2
0
1
7

B
o

o
t
h

 
#

2
3

3
9

H
a

n
g

i
n

g
 
P

a
n

e
l
s

15

04 10

01D

Elise Masur

09/27/17


	Sheets and Views
	D01-Rev15-Exhibits2017-Booth2339-Pg(4)-HangingPanels


